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8. The following is substituted for section 19: 13. Section 29 is revoked.

“19. Beginning with the 1997 insurance year, a pro-14. The following is inserted after section 33.1:
ducer must, in each insurance year, pay his assessment
at the time and in the manner prescribed by the Regula- “33.2 Notwithstanding section 33.1, failure by a pro-
tion respecting the farm income stabilization insuranceducer to comply with the time period fixed in the second
schemes. That assessment is based on the number geragraph of section 17.1 for the transmission of the
kilograms corresponding to the cumulative weight gaininformation provided for therein shall entail a reduction

of the insurable feeder cattle.”. in the cumulative weight gain considered in calculating
his compensation at a rate of 2.3 pounds per day of delay

9. Sections 20 and 20.1 are revoked. for the quantity of feeder cattle concerned by his failure.
He shall nevertheless remain bound for the payment of

10. Section 23 is amended the assessment due for all of the weight gain realized.”.

(1) by substituting the following for the first para- 18« The following is added after paragraph 6 of sec-
graph: tion 8 of Schedule 1:

“23. The Régie may exclude a producer from this “(7) beginning with the 1997 insurance year, the av-
Scheme where: erage weight gain per head of feeder cattle is obtained
by subtracting the average weight of starter calves deter-
(1) he refuses to identify all of his annual productionmined in accordance with paragraph 2 from the average
of insurable feeder cattle by means of the tag providedelling weight of slaughter cattle established according
for in section 17.1; to paragraph 6.”.

(2) he refuses to make a verification of a weighing16. The following is inserted after section 9 of Sched-
required by the Régie under section 17.3; ule 1:

(3) he removes the tag provided for in section 17.1 “9.1 Beginning with the 1997 insurance year, the
from any of the insurable feeder cattle before slaughterRégie determines the annual volume of weight gain
ing; produced by multiplying the number of slaughter cattle

sold according to paragraph 5 of section 8 by the aver-

(4) he refuses to pay any assessment due.”; and  age weight gain produced per head of feeder cattle ac-

cording to paragraph 7 of section 8.".

(2) by substituting the following for the second para-

graph: 17. This Regulation comes into force on 1 January
1997.

“A producer excluded from the Scheme shall be ex-
cluded for a period of five years from the date of his1116
exclusion and may not, during that period, re-enrol in
the Scheme either personally or as a producer in partner-
ship, shareholder, director or member of a legal perGouvernement du Québec

son.”.

O.C. 1561-9611 December 1996
11. The words “Regulation respecting the farm in- i ] _
come stabilization insurance schemes” are substitute@n Act respecting the Quebec Pension Plan
for the words “Regulation respecting the Income Stabi{R.S.Q., ¢. R-9)
lization Insurance Scheme for Feeder Cattle and Slaugh- o
ter Cattle Producers” in section 27. Contributions

— Amendments

12. The following is substituted for section 28: ) _ ]
Regulation to amend the Regulation respecting con-
“28. Compensation shall be paid to a producer on théributions to the Québec pension plan
basis of the cumulative weight gain for his insurable . .
feeder cattle determined in accordance with section 18 WHEREAs under section 50 of the Act respecting the
and a compensation rate calculated on the basis of tfa@uébec Pension Plan (R.S.Q., c. R-9), amended by sec-

annual volume of weight gain produced, according totion 223 of Chapter 1 of the Statutes of 1995 and by
section 9.1 of Schedule 1.”. section 288 of Chapter 63 of the Statutes of 1995, every
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employee shall, by deduction at source, make a contri- WHEREAS under section 12 of the Regulations Act

bution to the Québec pension plan for one year equal t(R.S.Q., c. R-18.1), a proposed regulation may be made

the product of one-half of the rate of contribution for thewithout having been published pursuant to section 8 of

year multiplied by an amount that generally representshat Act, where the authority making it is of the opinion

the amount by which the pensionable salary of the emthat the fiscal nature of the norms established, amended

ployee for the year paid to him by his employer exceedsr repealed therein warrants it;

the amount of his personal exemption without such con-

tribution exceeding the product of half of the rate of WHEREAS under section 18 of that Act, a regulation

contribution for the year multiplied by an amount calcu-may come into force on the date of its publication in the

lated in relation with the maximum contributory earn- Gazette officielle du Québewhere the authority that

ings of the employee for the year; has made it is of the opinion that the fiscal nature of the
norms established, amended or repealed therein war-

WHEREAS section 44.1 of the Act, amended by sec-rants it;

tion 1 of Chapter 47 of the Statutes of 1996, determines

the rate of contribution for a year and fixes it at 6 % for WHEREAS in the opinion of the Government, the fis-

the year 1997; cal nature of the norms established or amended by the
Regulation warrants the absence of prior publication

WHEREAS section 59 of the Act and sections 6 and 8and such coming into force;

of the Regulation respecting contributions to the Québec

pension plan (R.R.Q., 1981, c. R-9, r. 2) provide that an IT Is ORDEREDR therefore, on the recommendation of

employer shall deduct at source the amount of contributhe Minister of State for the Economy and Finance and

tions owed by an employee; of the Minister for Revenue;

WHEREAS section 6 of the Regulation allows an em- THAT the Regulation to amend the Regulation re-
ployer to calculate that amount either by using tables ofpecting contributions to the Québec Pension Plan, at-
source deductions or by determining the amount that theached hereto, be made.
employee must pay under rules similar to those provided
for in section 50 and section 8 of the Regulation deterMICHEL CARPENTIER,
mines a contribution cap for the year, the whole inClerk of the Conseil exécutif
accordance with the equivalent limit determined under

section 50; Regulation to amend the Regulation
WHEREAS the contribution cap being fixed at 6 % for respe_ctlngl contributions to the Quebec

the year 1997, it is expedient to amend, on the one han&'ens'on Plan

sections 6 and 8 of the Regulation so as they take int ; A ;

account half of that new rate and, on the other hand, tﬂnl,sﬁtcélrecs.pg?gngtgg (gﬁgb:cglieg;gg le,]adr} 1994

substitute new tables applicable from 1 January 1997 fo
Tables A and B of source deductions for the Québec’ 23,s. 23 and 1996, c. 2, s. 858)

pension plan; 1. The Regulation respecting contributions to the
. Québec Pension Plan (R.R.Q., 1981, c. R-9, r. 2),
WHEREAS under paragrapa of section 81 of the Act  gended by the Regulations made by Orders in Council
respecting the Québec Pension Plan, amended by Se¢y53 g1 gated 11 November 1981, 2824-82 dated
tion 23 of Chapter 23 of the Statutes of 1994 and by1 December 1982. 2485-83 dated 30’ November 1983
section 858 of Chapter 2 of the Statutes c.’f 1996, Fh%729-84 dated lé December 1984, 2585-85 dated
Government may make regulations prescribing anything necember 1985, 1868-86 dated 10 December 1986,
that by _Tltle Il of that Act, in particular, is to be pre- 193187 qated 2 December 1987, 840-88 dated 1 June
scribed; 1988, 1820-88 dated 7 December 1988, 1803-89 dated
. 22 November 1989, 1690-90 dated 5 December 1990,
WHEREAS under paragraphof section 81, the GOV- 1658 91 dated 4 December 1991, 1800-92 dated
ernment may make regulations enacting any measurg pecemper 1992, 1647-93 dated 24 November 1993
necessary or useful to carry out, in particular, T|tIeIIIof1692_94 dated 3(') November 1994 1563-95 dated'
the Act; 29 November 1995 and 1636-95 dated 13 December
1995, is further amended by substituting the following

WHEREAS under section 73 of the Act, Title Il thereof - . .
is deemed to be a fiscal law within the meaning of the ACEOr subparagraph of the first paragraph of section 6:

respecting the Ministére du Revenu (R.S.Q., ¢. M-31);
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“(a) either 1.9 % for the year 1987, 2 % for the year
1988, 2.1 % for the year 1989, 2.2 % for the year 1990,
2.3 % for the year 1991, 2.4 % for the year 1992, 2.5 %
for the year 1993, 2.6 % for the year 1994, 2.7 % for the
year 1995 and 2.8 % for the year 1996 and 3 % for the
year 1997 of the amount by which such salary exceeds
the exemption for the pay period pertaining to such
salary and contemplated in Division II;".

2. The following is substituted for section 8:

“8. The contribution deducted under section 6 for a
pay period shall not exceed 1.9 % for the year 1987, 2 %
for the year 1988, 2.1 % for the year 1989, 2.2 % for the
year 1990, 2.3 % for the year 1991, 2.4 % for the year
1992, 2.5 % for the year 1993, 2.6 % for the year 1994,
2.7 % for the year 1995, 2.8 % for the year 1996 and
3% for the year 1997 of the employee’s maximum
contributory earnings for the year within the meaning of
section 44 of the Act, less the total contributions de-
ducted from his remuneration since the beginning of the
year or that should have been deducted under this Regu-
lation or an equivalent plan.”.

3. The following is substituted for section 18:
“18.Tables A and B apply from 1 January 1997.".

4. 1. Tables A and B attached hereto are substituted
for Tables A and B of the Regulation.

2. Subsection 1 applies from 1 January 1997.

5. This Regulation comes into force on the date of its
publication in theGazette officielle du Québec
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